Operaciones con Nimeros Vigesimales (D)

15FF 2,

— 62C59

GEFJ99

+ 5C779

1D0C19g

— I96Dy

456D9

+ AHODy

15E7Dsyg

— IFG9y

Calcule cada respuesta.

181539

— G7JCq

393Hyg

+ J5JE9

303399

X HIgg

25080240|534

9EH44,

+ H52Ey,

F5679

+ T4T714

6H6J9

+ 80819

6FDCo

X 7320

3F6By

X 1D9g

DIFEy

— 8A82y

E7ED5640| G240

95JCq

X 509

16691y

— A304y

CF61yg

X 5920

CIJ99

X TAyg
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Operaciones con Nimeros Vigesimales (D) Respuestas

15FF 2,

— 62C599

JD2Hy

GEFJ99

+ 5C7 799

12860

1D0C19g

— I96Dy

EB584

456D9

+ AHODy

F2764

15E7Dsyg

— IFG9y

6IB4q

Calcule cada respuesta.

181539

— G7JCy

CAB5Byg

393Hyg

+ J5JE9

12F 3B,

303399

X HIgg

2DGG7Es

25080240|534

8EGEy

9EH44,

+ H52Ey,

16JJ 1o

F5679

+ I4T714

1D9D8s

6H6J9

+ 80819

EHF 04

6FDCo

X 7320

28A24Go

3F6By

X 1D9g

645G39

DIFEy

— 8A82y

587Co

E7ED56429|G220
HH8Ds

95JCq
X 509

2691004

16691
— A304y

G39Es

CF619
X 5920

39B7J99

CIJ9y
X TAyg

BJAJGAs
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